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20243 1%} =Z| J# | F+4H| 20244 1% =74| 3# | #4H|
2 2x3 | 393 | ARy A BEg | ®E3 | qed
s A 6,851,460,000 | 5,470,142,297 | 276,635,463 | 1,104,682,240 6,886,650,000 | A35,190,000| 100% s A 6,851,460,000 | 5.470,142,297 | 276,635,463 | 1,104,682,240 6,886,650,000 | A35,190,000( 100%
01. At =2 721,476,520 - - | 721,476,520 721,888,500 | A411,980| 10.53% 01. Ab & H| 2,158,004,069 | 1,837,098,330 | 40,100,000 | 280,805,739 2,215,562,129 | A57,558,060( 31.50%
02. tEHEQ - - - - - 0.00% 11.21 44| 1,745,589,970 | 1,699,547,330 - | 46,042,640 1,806,893,030 [ A61,303,060| 25.48%
03. EXZ 4| 5526,374,330 | 5469074330 | 57,300,000 - 5,569,926,100 | A43,551,770| 80.66% 12.92 27| 14,500,000 - - | 14,500,000 14,500,000 0.21%
3L AEREF - - - - - 0.00% 13.2 ¥H| 397,914,099 | 137,551,000 | 40,100,000 | 220,263,099 394,169,099 | 3,745,000 5.81%
32 Al2PEZxZ| 1,837,098,330 | 1,837,098,330 - - 1,900,850,100 | A63,751,770| 26.81% 02. XfAbZ=GH[| 191,678,000 - - | 191,678,000 204,278,000 | A12,600,000( 2.80%
22.7|E} X2 | 3,689,276,000 | 3,631,976,000 | 57,300,000 - 3,669,076,000 | 20,200,000| 53.85% 03. At & HJ 4,190,649,761 | 3,631,976,000 | 135,610,671 | 423,063,090 4,221,164,290 | 230,514,529( 61.16%
04. 2E+¢ 101,070,000 - | 101,070,000 - 91,370,000 | 9,700,000| 1.48% 31. AFIH| 498,193,761 - | 75,130,671 | 423,063,090 550,082,490 | 51,888,729 7.27%
06. MUZ+¢| 28,667,870 - - | 28,667,870 30,000,000 | A1,332,130| 0.42% 32. HEEZE | 3,692,456,000 | 3631976000 [ 60,480,000 - 3,671,081,800 | 21,374,200| 53.89%
07. O|23+¢¥| 469,460,980 709,047 | 118,170,463 | 350,581,470 469,460,980 6.85% 06. & X & 291,803,699 358,920 | 99,838,368 | 191,606,411 226,321,110 | 65,482,589 4.26%
08. % &= ¢ 4,410,300 358,920 95,000 | 3,956,380 4,004,420 405,880| 0.06% 07. Oj|H|H| 7| EF 1,795,471 709,047 | 1,086,424 - 1,795,471 0.03%
08. AldsE= 17,529,000 - - | 17,529,000 17,529,000 0.26%




